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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- Yet life is not literature, nor is literature life; the two are ----—--—-- .
1) consistent 2) distinct 3) temporary 4) adequate
2-The hurricane would not have had such a/an --=--—---- effect on the coastal village had
the storm surge not arrived during an abnormally high tide.
1) devastating 2) ultimate 3) calculating 4) obligatory
3- Federica expressed doubt about the existence of true altruism, claiming that no one
makes a ----emmeme without expecting to receive something in return in one form or
another.
1) facility 2) hypothesis 3) premise 4) sacrifice
4- As a supporter of the value of free trade, Bennett was often called upon to give
speeches around the world ------—---- the virtues of unencumbered commerce.
1) monitoring 2) purchasing 3) praising 4) exchanging

5- The efforts to revive the local economy after the departure of the town’s largest
employer were eased by the construction of a new arts center that would infuse the

community with much-needed ---------- .
1) revenue 2) scheme 3) schedule 4) survival
6-Eagerly advocating rehabilitation , Gena has always believed that individuals who have
been imprisoned deserve the opportunity to return to society as ---------- citizens.
1) voluntary 2) crucial 3) productive 4) internal
7-With --eceeeee- approval, the parliament accepted the new law that would prohibit
companies from discriminating according to race in their hiring practices.
1) intrinsic 2) fanatical 3) sporadic 4) unanimous
8- Many medical researchers now believe that there is such a thing as being too clean.
The “hygiene hypothesis™ suggests that excessively sanitary conditions can -------—--- a
person’s resistance to disease.
1) initiate 2) diminish 3) abandon 4) undertake
9- One popular misconception is that these subsidies produce lower food prices, and so
area  ceemeeeen to consumers. This analysis ignores the fact that consumers are
also paying for these subsidies through taxes.
1) transfer 2) device 3) boon 4) status
10-As one of the most popular writers of the 20th century, Jack Kerouac authored several
books that ------- to a wide variety of readers.
1) appeal 2) attribute 3) appear 4) devote

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The climate is expected to increasingly shape and (11) ---------- by cities. In a vicious circle.
climate change will increase energy demand for air conditioning in cities, (12) -===--m--- will

add to greenhouse gas emissions. It could also raise temperatures in urban areas (13) =-=-------
2-6 °C. “Heat, pollution, smog and ground-level ozone [from cities] affect surrounding areas.

reducing agricultural yields. increasing health risks and (14) e tornadoes and
thunderstorms. (15) ----=----- on urban water supplies are expected to be dramatic.” the report
says. Cities like New Delhi, in the drier areas. will be hit particularly hard.

11- 1) be shaped 2) shaped 3} is shaped 4) be shaping

12- 1) where they 2) they 3) that 4) which

13- 1) high up 2) by 3) for 4) at

14- 1) to produce 2) and produce 3) and producing 4) which produces

I5- 1) The impacts of climate change 2) The climate change impact

3) The impact changes in climate 4) The change in climate impact
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PART C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3), or

(4). Then mark it on your answer sheet.

PASSAGE 1:

Pressure drop is the price we generally pay for heat transfer. The pressure drop losses in any
heat exchanger are made up of the entrance and exit losses as well as the losses as the fluid
flows through the heat transfer passages. Too high a nozzle velocity for either the hot or cold
fluid can result in wasted pressure drop getting into and out of the heat exchanger, thus
reducing the useful pressure drop that contributes to high-transfer coefficients in the plate
channels themselves. In the worst case, high nozzle velocities can cause erosion of the port in
the first few plates of the plate pack (after the first few plates, the flow-rate drops off as the
fluid divides among the plate channels).

In which case pressure drop losses do not occur?

1) Entrance losses 2) Exit losses

3) Flow through passages 4) Erosion

What causes wasted pressure drop getting into and out of the heat exchanger?
1) High velocity for cold fluid and not for hot one

2) High velocity for either hot or cold fluid

3) Low velocity for either hot or cold fluid

4) Low velocity for hot fluid and not for cold one

Which one can replace the underlined word as in the passage above?

1) like 2) since 3) when 4) even though
Erosion usually only happens in the first few plates of a heat exchanger because --------- .
1) liquid velocities reduce afterwards 2) nozzle velocities reduce afterwards

3) liquid velocities increase afterwards 4) nozzle velocities increase afterwards

Which of the following statements cannot be inferred from the passage?
1) the division of fluid among the plate channels enhances heat transfer.

2) pressure drops can lead to erosion.

3) pressure drops can increase heat transfer coefficients.

4) increase in nozzle velocity increases pressure drops.

PASSAGE 2:

With disposable filtration, filters involving disposable filter elements offer the advantage of
a low initial capital investment. However, this benefit is offset by the cost of replacement filter
elements and the labour associated with filter element change-out. Disposable filtration may be
advantageous over automated regenerable filtration systems for process streams that contain
significantly less than 10 ppm solids. Disposable filters should be typically designed for a
service life varying from weeks to months to be economically viable. A typical disposable
filtration system for 300tph clean feedstock (less than 2ppm solids) comprises two 38in-
diameter filter vessels (one in filtration mode, one on standby).
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What is the meaning of capital in the text above?

1) first city 2) money 3) uppercase 4) main
What is the closest meaning to change-out?
1) alteration 2) exchange 3) replacement 4) adaptation

Which one is not correct according to the above text?

1) A typical disposable filtration system includes two filter vessels.

2) The services life is economically viable if it varies from weeks to months.

3) Disposable filtration is advantageow over automated regenerable filtration systems.
4) Filters involving disposable elements are more economical at first.

In the above text, "this benefit it is offset by" means that this benefit is --------- by:
1) covered 2) accepted 3) increased 4) compensated
Disposable filter elements may b economically viable if ----—----- is high.

1) replacement cost 2) the labor cost

3) solid concentration 4) the change - out period

PASSAGE 3:

Equilibrium is a word denoting a static condition, the absence of change. In thermodynamics
it means not only the absence of change but the absence of any tendency toward change on a
macroscopic scale. Thus a system at equilibrium exists under conditions such that no change in
state can occur. Since any tendency toward change is caursed by a driving force of one kind or
another, the absence of such a tendency indicates also the absence of any driving force. Hence
for a system at equilibrium all forces are in exact balance. Whether a change actually occurs in
a system not at equilibrium depends on resistance as well as on driving force. Many systems
undergo no measurable change even under the influence of large driving force, because the
resistance to change is very large.

According to the passage:

1) a driving force of one kind or another is necessary for a system to be at equilibrium.

2) absence of all driving forces is necessary for a system to be at equilibrium.

3) Achieving an equilibrium state does not depend on the absence or the presence of a driving
force.

4) equilibrium is caused by a driving force of one kind or another.

According to the passage changes at ---------- .

1) microscopic scale may occur at equilibrium

2) microscopic scale shouldn't occur at equilibrium

3) macroscopic scale may occur at equilibrium

4) macroscopic scale may increase driving faces

"tendency" is closest in meaning to:

1) inclination 2) trend 3) likelihood 4) potential
l Choose the best choice and mark in your answer sheet. l
A spontaneous process is a process which takes place ---------- .
1) over a period of time 2) instantaneously
3) on its own 4) randomly
Immiscible phases are phases which are ----------- .
1) homogeneous 2) not dissolved in each other

3) inseparable 4) at the same temperature and pressure
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1 2 31 1 61 4 91 1 121 4
2 1 32 2 62 4 92 3 122 4
3 4 33 4 63 3 93 2 123 2
4 3 34 4 64 1 94 3 124 4
5 1 35 3 65 4 95 4 125 2
6 3 36 2 66 3 96 2 126 1
7 4 37 1 67 4 97 4 127 4
8 2 38 4 68 1 98 2 128 3
9 3 39 2 69 1 99 3 129 2
10 1 40 3 70 2 100 4 130 1
11 1 41 1 71 2 101 1 131 1
12 4 42 4 72 2 102 1 132 2
13 2 43 1 73 3 103 3 133 1
14 3 44 2 74 3 104 3 134 3
15 1 45 3 75 2 105 2 135 1
16 4 46 2 76 4 106 4 136 3
17 2 47 3 77 3 107 3 137 4
18 3 48 1 78 4 108 2 138 2
19 1 49 2 79 2 109 1 139 1
20 1 50 3 80 3 110 4 140 4
21 2 51 1 81 3 111 1 141 3
22 3 52 4 82 3 112 4 142 2
23 4 53 1 83 1 113 1 143 1
24 4 54 1 84 4 114 2 144 4
25 2 55 4 85 1 115 3 145 2
26 2 56 3 86 4 116 3 146 1
27 1 57 2 87 1 117 2 147 3
28 1 58 2 88 2 118 3 148 4
29 3 59 2 89 2 119 4 149 1
30 2 60 3 90 2 120 3 150 2
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